Calcule :
53 + 4 = /

53 + 4 = 57 Gp
58 +2 = ... 58 . 2 - 60 %f;’};@
5450 = .. £, 50 . 55 O
61 + 4 = ... 61 + 4 - 65
59+ 7= ... £} 59+7-66
Calcule :
62+6=....4/§ 62 + 6 = 68
68 + 5= ... 68+ 5 =73
70+9= ... 70 + 9 =79 V22€
60 + 15 = ... 60 + 15 = 75
60 + 18 = ... 60 + 18 = 78
ADDITION G2

>

N\




Calcule :

ovZ2= F N Hr2-7
76+ 6 .. 764+ 6= 82
9470 = .. L 9470 -79
81+ 7= .. 81+ 7= 88
86 +4 = .. 8644 =90

ADDITION C3

Calcule :
84+8=..../§ 8 + 8 =92

90 +2 = .. e 90 +2=92
86+ 9= .. . 86+9-095
93+5= .. . 93.45-98

E 95+ 5 =100

NI A

ADDITION C4




Calcule ; /

30 + 30 + 30 = ... §30+30+30=9O

20 + 20 + 30 = .... EZO+ZO+30=7O

50+ZO+7=.... 50+ZO+7=77

10 + 50 + 9 = ... - 10+50+9=69

ADDITION C5 :.;'c"‘_ ReCreatisse.com
Calcule :

40 + 40 + 20 = 7. 40 + 40 + 20 =100 Yo Yo Ho! -

40+ 20 + 3 +7 = . f4b0 + 20 + 3 4+ 7 =70 :

20 +20 +15= ... £20 +20 +15=355

60 + 10 + 4 = ... 160 + 10 + 4 = #

8+50 +2= .. 4o [8+50+2=60

ADDITION C6 ReCreatisse.com

NN




Calcule :

64+23="",/§ 64 + 23 = 87
26 + 61 = ... L 26+ 61- 87
5 + 35 = ... 5 + 35 = 89
37+ 32 = ... i 37+ 32-69
63 + 25 = ... P 634+ 25-88
ADDITION C7

46 + 26 = ... 46 + 24 = 70
38 +23= .. 38 + 23 = 61
78 + 16 = ... 78 + 14 = 92
57+ 17 = ... 57+ 17 = 74
65 + 18 = ... 65 + 18 = 83
____
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